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1) Glucose is reabsorbed iryhis part of nephron
‘roximal tubule b) Loop of Henle

¢) Distal tubule d) Collecting duct
2) Write two differences between water soluble vitamins and fat soluble vitamins in terms ofd it " nille

absorption, storage, and excretion.
’ J}“ w;,} v annd be swEd. Thy ate “,{lﬁd,,,fu{/ﬁ;wﬁ
i souble apc siged n he by in adipse S ran 1cad ©
(an bt S{UYZ(d n e fitn and o mULh \/Haf}ﬂz 2@(@{ hgh'uwpmmc)
CLEONSIS. Fat soluble  yitaming usc ChyloM Sdalit ((%f")ﬂ”’fj and £
watie Soluble  vitamin seexc aS @enggmor /
Colvb!e Vitgmi s dg net, /

3) Measure of the osmoles of solute per kilogram of solvent is known as(K 114 la Iih ¥ @
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5) Briefly, explain the “counter current mulitiplier exchange”
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7) Expluin the role of vasopressin in water balance regulation. :
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8) What are the 2 steps in the activation of di itamin D' _
vitamin 1) (.»l’.p V3 15 (Jt'x-}f‘(:lﬁ;‘.‘r,rlyﬂvgi)l(ng?3(?'{] in Ahe hvek via Z/W*hydto—
Xalase 4o fggm 25 (oW witamin D This 1 Ine {olin HCSkd 1D JFar.
vkt ASCOH) yitamin D b“kﬂ’-‘gl?(; a seand hyd((k(ﬂd‘ﬁé") in The Fidne
vig dalpha h)’(/“]w“”“l( to e 1-25 OH, wiamin D _aiso (alcd ach%
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